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Question Number : 1 Question Id : 2549896412 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The term 'operating system' means:

Options :

1. % a set of programs which controls the working of a computer

2. * the way a computer operator works

3. ¥ conversion of high-level language into machine level language

4. # the way a floppy disk drive operates

Question Number : 1 Question Id : 2549896412 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 2 Question Id : 2549896508 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
appears at the bottom of an MS-Excel worksheet.

Options :

1. ¢ Status bar
2. % Name box
3. * Formula bar

4. * Title bar

Question Number : 2 Question Id : 2549896508 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
, MS-Excel ahfre & i1 (a1 i) Ratg Ear 81

Options :

1. ¥ R IR
2. ¥ A7 diem
3. ¥ BRI ER

4, % T3ed IR

Question Number : 3 Question Id : 2549897255 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which directory is responsible for resource allocation in Linux?

Options :
1. % Jusr
2. % /dev
3. % /etc

4.« [kernel

Question Number : 3 Question Id : 2549897255 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Linux & 9aTeM 31meie (resource allocation) & AT si=-Tt SRR SR &2

Options:
1. % Jusr
2. % /dev
3. % /etc

4.+ [kernel

Question Number : 4 Question Id : 2549897671 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In computing, output devices are used to:

Options :



1. % view or print data
2. * input data
3. # scan data

4. * store data

Question Number : 4 Question Id : 2549897671 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ a1 & T fiie A & forg
2. % 3T gAY A & g

3. ¥ A A hH & folg

4, ¥ AR HH & foIg

Question Number : 5 Question Id : 2549898455 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which function returns the k-th largest value in a data set in MS-Excel?

Options :

1. * KLARGE function
2. ¥ LARGEVAL function
3. ¥ LARGE function

4. * VALLARGE function



Question Number : 5 Question Id : 2549898455 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
MS-Excel #, ST ¢ | IH-9T tharM k-ai & FST A Alerdl 872

Options:

1. ¥ KLARGE therH
2. ¥ LARGEVAL theM
3. ¥ LARGE e

4. ¥ VALLARGE therr =

Question Number : 6 Question Id : 2549898730 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following errors is related to memory error?

Options :

1. % RTC error

2. % Syntax error
3. ¢ Parity error

4. % Logical error

Question Number : 6 Question Id : 2549898730 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Freforea § @ F-a 3R, A9 3R @ Teifa &7

Options :
1. ¥ RTCHfC

2. % grg AT (Rfide) Ffe
3. ¢ gHar (ARké) FAfe

4, % T (o) R

Question Number : 7 Question Id : 2549899206 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The is controlled by a mouse and changes shape depending upon its current function.

Options:
1. % icon
2. ®* menu
3. ¥ screen

4. ¥ pointer

Question Number : 7 Question Id : 2549899206 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :



3. ¥ Th

4, ¢ giER

Question Number : 8 Question Id : 2549899305 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
External devices can be connected to through a port.

Options :

1. * keyboard
2. * mouse

3. ¥ system unit

4. ® headphone

Question Number : 8 Question Id : 2549899305 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Uah UIE o 1T F 183 IUhRUN ahl SIS ST 9ehT B

Options :
1. # FEre
2. % O39
3. ¢ {&en gfac

4, % gShiA

Question Number : 9 Question Id : 25498930066 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
FAR and FRR refer to which of the following in the matching process of a biometric sensor?

Options :

1. * speed

2. % efficiency
3. ¥ validity

4, % errors

Question Number : 9 Question Id : 25498930066 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
IR Jox Fi e ufehar § FAR SR FRR A=fafea § § forg defofa a=a 8?2

Options:

1. ¥ 97 (speed)

2. # c&rdn (efficiency)
3. % duyar (validity)

4, ¥ Ff¢ (errors)

Question Number : 10 Question Id : 25498930918 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a function of touchscreen input devices?

Options :



1. % Hover
2. % Tap
3. * Double-tap

4. % Drag

Question Number : 10 Question Id : 25498930918 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
fAefafead # @ sl=-41, TashiFa 37qe fearsy &1 o =51 8?2

Options :

1. ¢ gla= (Hover)

2. % &g (Tap)

3. ¥ ggd-¢u (Double-tap)

4. ® 31 (Drag)

Question Number : 11 Question Id : 25498931288 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following refers to the instruction processing speed of a computer measured in

millions of cycles per second?

Options:
1. * Seek time
2. % Baud rate

3. * Access time



4. ¥ Clock rate

Question Number : 11 Question Id : 25498931288 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fAefafed d @ s=-g1, feas oo ufa Yavs & ATdY 18 dhrger i fder gewenor 7fd (instruction processing
speed) @t HafHd war 8?2

Options :
1. ® Ik 213H (Seek time)

2. % gig < (Baud rate)

3. % Uy @13d (Access time)

4., + gt 3 (Clock rate)

Question Number : 12 Question Id : 25498932660 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The communication between a card and a card reader takes place through direct coupling. This

leads to:

Options :

1. % portability
2. * reliability

3. ¥ better speed

4, # efficiency

Question Number : 12 Question Id : 25498932660 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
STIREE hUTelT el IUTNT chech hTs 3R s e o drdg IR fohaT SITaT &1 399 o giar/sidt 82

Options :
1. % gargpr (Trfafert)
2. * fgg-igar (Remsfaferd)

3. ¢ dgR 7 (sr TWie)

4. % ggrar (QithfAdE)

Question Number : 13 Question Id : 25498933100 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The horizontal and vertical wires of RAND tablets operate as:

Options :

1. # transmitting and receiving coils
2. ¥ transmitting coils

3. ¥ positive and negative connectors

4. % analog to digital converters

Question Number : 13 Question Id : 25498933100 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
38 (RAND) ¢aaie & &fast 3k FeafeR dR 3T UhR dhiH &hid &:

Options :



1. ¥ HRUGRI (transmitting) 3R UTEHRT (receiving) $ee! & & &

2. ¥ HERUGRY (transmitting) gecil & & |

3. ¥ YhRIcHS 3R AhRIcHh haded o &0 A

4. % g 9 f$fStest uRadat & Ta &

Question Number : 14 Question Id : 25498933201 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is binary equivalent of given decimal number (109)19?

Options :

1.4 01101101
2. # 00000011
3. % 11111100

4. % 111000

Question Number : 14 Question Id : 25498933201 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
& TS gemera T (109)10 & fEememt anges a1 82

Options :

1.4 01101101
2. % 00000011
3. % 1111 1100

4. % 111000



Question Number : 15 Question Id : 25498933833 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is the base for the hexadecimal number system?

Options :
1. %2
2. % 8
3. %10

4.4 16

Question Number : 15 Question Id : 25498933833 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
fafefea & @ wa-a1, saarefRma 9 goTeft &1 3meR (base) 82

Options :

3. %10

4.4 16

Question Number : 16 Question Id : 2549898170 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A(n) may specify whether a user or a users group has the access to a file or a folder on that



computer or network.

Options:

1. # account lockout threshold
2. ¥ access control list

3. ¥ reset account lockout

4. % account lockout duration

Question Number : 16 Question Id : 2549898170 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ 3fRISC ARSI YMeS
2. ¥ TR delel fore

3. ¥ [T AR ARSI

4. % AT AlhIIT ST

Question Number : 17 Question Id : 2549899451 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A printer puts and on a paper.

Options :
1. ¥ text; graphics

2. # text; audio



3. % text; video

4, #® graphics; audio

Question Number : 17 Question Id : 2549899451 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fiier, TR R 3R 3ifchd &hedT 81

Options :

1. ¢ Sae; UNftherg

2. ¥ TeRe; siffeat

3. ¥ Cer; fafean

4. % 7rithers; fifsat

Question Number : 18 Question Id : 2549899469 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Inkjet printers create images by spraying onto a page.

Options :

1. # information
2. * data

3. ¥ ink

4. % toner

Question Number : 18 Question Id : 2549899469 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
ghole R I8 W T heh RIF F4TdT 81

Options :

1. ¥ ZAHHEN
2. % g1

3. ¢ Q@rgt

4. % IR

Question Number : 19 Question Id : 2549899626 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is an input device?

Options :
1. ®* Speaker
2. ¥ Word
3. ¥ Joystick

4. % Printer

Question Number : 19 Question Id : 2549899626 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Prafofa # & a9 91 ga 3 Ay 82

Options :



1. # iR
2. 8 g8
3. ¢ Sifafee

4. % iR

Question Number : 20 Question Id : 25498910787 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The sharpness of text and images on a paper is called as:

Options :

1. printer resolution
2. * printer font

3. # printer speed

4. % printer colour

Question Number : 20 Question Id : 25498910787 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
TR WR ¢ere 3R R Y wear A & fnd defefa ot 82

Options :
1. ¢ fiiex & Reftege™
2. % fifex & Wi

3. ¥ fijex &1 fd



4., % fiezah a1

Question Number : 21 Question Id : 25498910953 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Warm boot of PC is generally done by pressing:

Options :

1. ®¥ the power on button
2. * F5 function key

3. * F10 function key

4. ALT + CTRL + DEL together

Question Number : 21 Question Id : 25498910953 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
gt (PC) &t arH ¢ oA o forg SraT=ad: fohrent IuahT foha SiTdT 8?2

Options :

1. ¥ OfeR 3 g
2. % F5 UhoRM bl
3. ® F10 therM &l

4.+ ALT + CTRL + DEL ! Uch 1 T

Question Number : 22 Question Id : 25498911131 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Which printer sprays streams of quick drying ink for printing?

Options:
1. * Laser
2. ¥ Inkjet
3. % 3D

4. % LED

Question Number : 22 Question Id : 25498911131 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
i+ 97 fliex ggut o foig dsit § =t atelt Wig! i W T g?

Options :
1. % TSR

2. ¥ dFhsie
3. % 3D

4. % LED

Question Number : 23 Question Id : 25498913456 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a network topology type?

Options:
1. % Star

2. #* Wire



3. % Chain

4. % Coin

Question Number : 23 Question Id : 25498913456 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ &R
2. % R
3. % 39

4, % pig

Question Number : 24 Question Id : 25498913480 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
files are limited to just 256 colours.

Options :
1. # |PEG
2. % BMP
3. ¥ GIF

4. * PNG

Question Number : 24 Question Id : 25498913480 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
GIgel! H had 256 FT 81 gid 8l
Options :
1. # JPEG
2. * BMP

3. ¥ GIF

4. % PNG

Question Number : 25 Question Id : 25498918498 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Snapdragon is a suite of system on a chip (SoC) semiconductor products for mobile devices

designed and marketed by Technologies Inc.

Options:

1. % Qualcomm
2. % IIT Madras
3. * Infosys

4. * WIPRO

Question Number : 25 Question Id : 25498918498 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

U= (Snapdragon) CertersiiST gpraiRes (Technologies Inc) gRT f&wisT aut fauurm fahg g
HIeTSel IURRUN & oy Ueh e 31 7 (SoC) Seitehede Uisaed i Teh gse 8l



Options :

1. ¢ Faraai|d (Qualcomm)

2. % 3IMsemsdt Hgry (IIT Madras)
3. # HIRY (Infosys)

4. % faut (WIPRO)

Question Number : 26 Question Id : 25498921936 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

cryptography schemes are generally categorised as being either stream ciphers or block

ciphers.

Options :

1. % Symmetric Key Algorithm
2. % Public Key Algorithm

3. # Hash function

4. # Popular Key Algorithm

Question Number : 26 Question Id : 25498921936 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
_ foreturdh whim t amrad: ¥ R a1 st [wR & = | giffera fohar srar 81

Options :
1. ¢ RAfgen 6t gemiRyd

2. * ufeten i gernRawA



3. ¥ 29 ther™

4. ¥ UiqeR hl TermiRyd

Question Number : 27 Question Id : 25498922705 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which among the following is an example of a computer hardware?

Options :

1. % Compiler

2. # Operating System
3. ¥ Motherboard

4. * Disk Defragmenter

Question Number : 27 Question Id : 25498922705 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fAefefed & & l9-91, e gTSduR &l Yeh IETEX0T 872

Options :

1. ® Teheleh (Compiler)

2. % JRfd R%ew (Operating System)
3. ¢ gezats (Motherboard)

4. % &% Sithex (Disk Defragmenter)

Question Number : 28 Question Id : 25498924451 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT the communication system call of UNIX?

Options :

1. % pipe()

2. # shmget()
3. % mmap()

4., ¥ sleep()

Question Number : 28 Question Id : 25498924451 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
= & @ o9 1 g (UNIX) &1 Ueh hRIfAher R%eH ohid -Tgl 872

Options:

1. % pipe()

2. % shmget()
3. * mmap()

4. ¥ sleep()

Question Number : 29 Question Id : 25498925425 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
is an unwanted electrical signal of high frequency from other equipment around.

Options :



1. ¥ Noise
2. * Voice
3. # Sound

4. % Sine wave

Question Number : 29 Question Id : 25498925425 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
YT & 3= IUHUT & UTE g aTell I 311 i<t &l Yeh Sraifed fagld dehd 1

Options :

1. v AR

2. % AT

3. % gfq

4, % grgaaq

Question Number : 30 Question Id : 25498927473 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following way can be used to view your computer on a TV screen?

Options :

1. % Using wired or wireless mode

2. * Using another CPU

3. ¥ Using another monitor

4. # Itis not possible



Question Number : 30 Question Id : 25498927473 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ot BhIF IR 31U ShgeR i @A & forg Fmfeifaa & & fohg aiek et SuaiT fohar ST ekt 82

Options:

1. ¢ I1IE T IRRAY AIS I IUTNT hich
2. ¥ 3= CPU o SUTNT &hich

3. ¥ 3=y Al I IUTNT Hch

4, % ggEHT TEI &

Question Number : 31 Question Id : 2549896745 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Every day, you receive email messages from an unknown sender. What is the term used for this

type of security threat?

Options:
1. % Spam
2. * Phishing
3. ¥ Hacking

4. # Spoofing

Question Number : 31 Question Id : 2549896745 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
g &, smmuant fRdt SraTa Uweh & $A TeRT UT 8id & | 39 TR o TREAT Wk o oIy fohd <1eq apt waiT foha Siram
8?

Options :
1. ¥\

2. % fopfer
3. % gfchm

4. % wfth

Question Number : 32 Question Id : 2549897217 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following options in Google drive is used to copy a file or document from a

computer?

Options :

1. % Load

2. * Upload
3. * Transfer

4. ¥ Make a copy

Question Number : 32 Question Id : 2549897217 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :



1. ¥ &< (Load)
2. ¥ 3uerrs (Upload)
3. ¥ g Ew (Transfer)

4, « wep 3 prdl (Make a copy)

Question Number : 33 Question Id : 2549897759 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is meant by a browser?

Options :

1. # Itis a software which is used to browse source code.

2. ¥ Itis an antivirus software.

3. ¥ Itis a software that enables internet users to view web pages.

4. ® Tt is a security software.

Question Number : 33 Question Id : 2549897759 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
TSR T T dT9d 872

Options :

1. # gg Uch GIUCddR g STt Hld IS SIS e o [oIT IUANT fehdT STTaT g

2. % Ug Uch UEaRRY Giucd:R |

3. ¢ g Tch VT IIUedIR § STt §e3Ac IUTNThdIST ahl dF Ul od H J&H 41T g



4. % Ig Yop TRE AlteddR 8

Question Number : 34 Question Id : 25498910443 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following software belongs to the category of shareware?

Options :

1. ¥ Adobe Photoshop
2. * Mozilla Firefox

3. # Microsoft Office

4. ¥ Winzip

Question Number : 34 Question Id : 25498910443 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
fAefafad # & l=-a1 Airedar ARATR 6 oft & 37T 8?2

Options :

1. ¥ gSlq wieiiig (Adobe Photoshop)
2. % AifSie BrRWIE (Mozilla Firefox)
3. # frgshgiue Aifthg (Microsoft Office)

4. ¢ f=fea (Winzip)

Question Number : 35 Question Id : 25498910673 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
A(n) section break starts a new section on the following page in MS-Word.

Options:

1. ¥ next page

2. * continuous
3. * even page

4. % odd page

Question Number : 35 Question Id : 25498910673 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Uh Y sich MS-Word # STHT UsT UR Ueh 73T SR [ el 8l

Options :

1. ¢ deRe U
2. ¥ Ha=ge™
3. ® 3@ U9

4, % s U

Question Number : 36 Question Id : 25498910738 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a wild card character in Windows OS?

Options :

1.% 7

2.



* 1

4. ¥ Mt

Question Number : 36 Question Id : 25498910738 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
= d @ sa-g1, fdsist ofiwg (0S) H a1ges &h1e hedex Tl 67

Options :

4. ¥ Mt

Question Number : 37 Question Id : 25498911481 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Satheesh is working on an MS-Word document. When he types :(, autocorrect properly inserts a(n)

symbol.

Options :

1. * happy face
2. % trademark
3. % arrow

4. ¢ frowning face



Question Number : 37 Question Id : 25498911481 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
12T Yeh MS-Word SIeRHT UR hIH R TG 8, STd I+ & :(, et Tal 11 d Udteh ufd® ehear gl

Options :

1. % yeafa g3 (gudt %)
2. % Feurd

3. % R ()

4. hifdd g (AT tha)

Question Number : 38 Question Id : 25498911497 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Satheesh is working on an MS-Word document. When he types :-, autocorrect properly inserts a(n)

symbol.

Options:

1. # frowning face
2. ¥ neutral face
3. ¥ arrow

4. % happy face

Question Number : 38 Question Id : 25498911497 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Geftar MS-Word SterjHAc tR & &R 8T 8| STd I8 213U ohdl 6 :-, Sicichide WE &Y & b gdter afmfea
T 8

Options :

1. % ohiferd =exT (ShrafH tha)
2. ¥ [ TE AT (g )
3. % dR (%)

4. ¥ yg=fe 98 (2wl )

Question Number : 39 Question Id : 25498911841 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The spacing option in MS-Word will be applicable to .

Options :

1. paragraphs
2. % words

3. # letters

4, # sentences

Question Number : 39 Question Id : 25498911841 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
MS-Word & fET faeea TR ARL BT

Options:

1. ¢ WRUTH



2. % [eg
3. % 38R

4, * deg

Question Number : 40 Question Id : 25498911873 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If the command is unavailable, you might have to turn off document protection in MS-Word.

Options :

1. % Track Changes
2. * Balloons

3. * Reviewing Pane

4, # Show Markup

Question Number : 40 Question Id : 25498911873 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
afg HHTS U §, af 3! MS-Word H Sagie IR &l &g AT US Tehal &

Options :

1. ¢ ¢ I
2. % a9

3. ¥ Reggn g9

4. % Y Areharg



Question Number : 41 Question Id : 25498911887 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is a network node that connects two different networks that use different

protocols for communicating over the internet?

Options :
1. * Bridge
2. % Hub
3. ¥ Modem

4. ¥ Gateway

Question Number : 41 Question Id : 25498911887 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 3=

2. % 84

3. ¥ Oreq

4. g

Question Number : 42 Question Id : 25498911975 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statements with reference to a cell in an electronic spreadsheet is FALSE?

Options:

1. # Cell reference identifies the location of a cell.

2. ¥ Active cell address is displayed in the formula box.

3. # Cell reference consists of the column letter and row number.

4. ® The selection of more than one cell is known as a cell range.

Question Number : 42 Question Id : 25498911975 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
gl Sresfle # Tt & deof # A=fafad & § &9-a1 %y 7erd (FALSE) &2

Options :

1. % Ia1 G (reference) 9«1 & WH (location) &hi UgaT T

2. ¢ Tfthd (Active) T Te9, T &ied (formula box) & ueffa gtar 81
3. # a1 Geof (reference) # orictd 378k 3R Ufth (row) T&T gidT 1

4. ¥ gep 9 3fYeh Tl oh 99 i 9 391 (cell range) & U H ST ST 8

Question Number : 43 Question Id : 25498912497 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The change in the appearance of the value in a cell of a spreadsheet is referred to as:

Options :
1. ®¥ spacing

2. # design



3. ¥ layout

4. + format

Question Number : 43 Question Id : 25498912497 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % @fI (spacing)
2. % &9 (design)
3. ¥ amse (layout)

4. + e (format)

Question Number : 44 Question Id : 25498913332 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.AThink Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following statements with reference to the internet is FALSE ?

Options :

1. % A client computer is where websites are stored.

2. * Email is used to communicate and share information on the internet.

3. * Social media allows people to connect in a variety of ways and build communities online.

4. % The World Wide Web is also called the Web in short.

Question Number : 44 Question Id : 25498913332 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
gexc & e # fAmfeifad & @ &l9-91 y= eid (FALSE) 87

Options :

1. ¢ Qoh FISC heR I8 STIE § STgl T3¢ HUald chl SiTdl g

2. # 3o R IR IR SRR 1T A o ol SHS ahl IUTNT fehar SIrar g1

3. * gieret HifSar i ot fafara adl & e $iR SHiFers THe™ a9 6l Sigafd & 8|

4, % oS d15S Ad i 9T H a9 oY ehgl ST 8l

Question Number : 45 Question Id : 25498919172 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT an envelope size within MS-Word's Mail Merge option?

Options :
1.% C4
2. % C5
3. % C6

4.+ C7

Question Number : 45 Question Id : 25498919172 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
ffefea & @ @=-a1, MS-Word & & #st (Mail Merge) faered & iR Uah Tdelu 9189 "8l 872

Options :



1.% C4
2. % (5
3. * C6

4.+ C7

Question Number : 46 Question Id : 25498919202 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Selecting address list is done in which step of the step-by-step process of Mail Merge in MS-Word?

Options :
1. % Step3
2. % Step5
3. % Step2

4. % Step6b

Question Number : 46 Question Id : 25498919202 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

gd1 gt (address list) &1 @9 MS-Word # A« #sf (Mail Merge) dht aRur-az-=Ro1 Ufehar o fohg =ror # fohar
ST 872

Options :
1.9 =0T 3
2. ® TROT5

3. % TROT2



4, % =TRUT6

Question Number : 47 Question Id : 25498920542 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT an example of a word processor?

Options :

1. ¥ Open Office Impress
2. * Google Docs

3. # Open Office Writer

4. % Microsoft Word

Question Number : 47 Question Id : 25498920542 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
ffefed & @ -1, 3 UIER &1 IaT8e0T 8l 87

Options :

1. ¢ Siiu Siffthy 30

2. % e Sl

3. ¥ U SHTfthy A3

4. ¥ HIHIEIT T8

Question Number : 48 Question Id : 25498920636 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
Which of the following options in the File pull down menu is used to close an MS-Word document?

Options:
1. # Quit
2. ¥ Close
3. * Exit

4, # New

Question Number : 48 Question Id : 25498920636 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fAfafEa & 9 =-91 wigd got S A 1 fdehed e MS-Word SlegHE ohf & e o folq IuaiT fohar Sirar 82

Options :
1. % fgae (Quit)
2. ¢ it (Close)

3. % ufidre (Exit)

4. % 37 (New)

Question Number : 49 Question Id : 25498933768 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Letters of the alphabet are used to represent which of the following in a spreadsheet?

Options :

1. % Columns

2.



#® Rows
3. # Tabs

4, % Menus

Question Number : 49 Question Id : 25498933768 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
gresfie # fAmfeifaa & 9 forganr fAsuor oA & ferg gufarer (alphabet) & 31eRT ot IudiT fohat STdT 82

Options :

1. ¢ @i (Columns)
2. % dfhai (Rows)

3. # ¢sg (Tabs)

4. ¥ ST (Menus)

Question Number : 50 Question Id : 25498933779 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The process of transferring files from an FTP server to an FTP client is called

Options :

1. % downloading
2. * uploading

3. * reloading

4. % executing



Question Number : 50 Question Id : 25498933779 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¢ SIS

Question Number : 51 Question Id : 25498933806 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following refers to a process that involves the transfer of files between computers

over a network?

Options :
1.+ FTP
2. ®# DHCP
3. # POP

4. % ARP

Question Number : 51 Question Id : 25498933806 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ FTP
2. % DHCP
3. % POP

4. % ARP

Question Number : 52 Question Id : 25498934446 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
means the use of more than one media in communication.

Options :

1. % Multimedia
2. * Animation
3. * Sound

4. % \isuals

Question Number : 52 Question Id : 25498934446 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1.« adiHifEar

2. % gfAdsE



3. ¥ g€

4, % faspereyd
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Read the given passage and answer the questions.

Celebratory firing

New Delhi, 19 April 2016: After having finished her class XII examinations some days earlier, Anjali



was on the balcony of her house on a Saturday evening watching a wedding procession pass by.
She suddenly slumped to the floor in a pool of blood. Some neighbours ran to inform her father,
who has a tea stall about 100 metres from the house. They took her to the hospital, where a CT
scan revealed that the 16-year-old girl had been hit on the head by a stray bullet from a gun by

one of the wedding revellers.

Now three days later, she lies unconscious in the hospital leaving her father fretting about the
reluctance of the doctors to operate on her. “Instead of operating on her immediately, the doctors
are delaying the treatment. They are suggesting that we should consider donating Anjali’s
organs,” protested Shyam Sunder, Anjali's father. “We fear this delay will only worsen her

condition.”

Dr. Pinky Yadav, the medical superintendent of the hospital where Anjali is admitted, said, “Our
neuro-surgeons have reviewed the case and concluded that surgery won't help significantly. The
girl is in a very critical state and is on supportive treatment. The bullet entered from the lateral

side of the right eye and is lodged on the left parietal area of the brain.”

The people told police that some men from the wedding procession had fled after the incident.
Police identified the man who had fired the gun as Vikrant, a 24-year-old cousin of the groom. A

case has been registered against him.

While Sunder said he couldn’t understand why police had not arrested Vikrant yet, a senior police

officer said, “Our teams are raiding possible hide outs and the youth will be soon arrested.”

Anjali had been expecting good results in her Senior Secondary Board exams. “She wanted to
become a teacher and had spent hours on the internet in cyber cafes to learn how to achieve this
aim,” said Sunder. “She used to tell her mother that she would buy a house and get the family out

of the current rented house. All our dreams have been shattered.”

Sub questions

Question Number : 53 Question Id : 25498921140 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
This news item is about a 16-year-old girl who was:

Options:

1. ¥ attending a wedding procession

2. ®# admitted to a hospital for brain surgery

3. ¢ hit by a bullet during a wedding celebration

4. # going to donate her organs

Question Number : 54 Question Id : 25498921141 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a reason for Anjali's father being unhappy with the system?

Options :

1. # The doctors not operating on Anjali immediately.

2. # The doctors suggesting that her organs should be donated.
3. # The police not arresting the culprit.

4. ¥ The police raiding all the possible hideouts for the culprit.

Question Number : 55 Question Id : 25498921142 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The doctors are NOT operating on Anjali because:

Options :
1. # they think the surgery won't help her significantly

2. ¥ they want her to donate her organs



3. ¥ the bullet is lodged in her brain

4. *# the bullet entered from the lateral side of the right eye

Question Number : 56 Question Id : 25498921143 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What did Anjali aspire for in her life?

Options:

1. # To be a teacher and spend time on the internet
2. ¥ To work in a cyber cafe and buy a house

3. * To dream about her family and their future

4. ¥ To be a teacher and buy a house for the family

Question Number : 57 Question Id : 25498921144 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following statements is NOT true according to the passage?

Options :

1. # A bullet from a wedding celebration hit Anjali.

2. ¥ Doctors feel Anjali's condition can improve after surgery.
3. # Anjaliis on a life support system in the hospital.

4. # Police has not yet arrested Vikrant who had fired the gun.

Question Id : 25498921139 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)
fe T TErier ot U SR ITh SMYUR WR Ul & IR |

Il § &Y ST areflt wrafa

73 faett, 1.9 a1, 2016 : Fo &7 ugdt & S1ut sher 124 ht udter 3 & g, siSifer AfFER 7 @t S+ e
ITeTeh-t ¥ gl 8 ToRd! g3 Yeh aRId hl & gt Al | a8 3Heh Y F Idud = S R IR 78| go uSidt 389
O &l gferd ez o forg 9, ST eR & o1 100 HieR el gt TR =1 <hl Wil WR &1 & I8 SdTel of 7Y, Sigh Wi

Th1 I HIeH g3 foh 16 auffa oTgchl o TR H foheft sRicht &t a5k & et g3 wiett @t 81

a4 & &g ofY g srauarer A dgiht i g | 8, 3R 3T fuar 39 arg 3 [ifad § o Siaer ST SR & IR
T 761 & 36 g | " IATST e h FoT1, SR eIToT H ol X 3@ &1 d G & T3 & [oh g SiSifel oh 3T G oA
R TR s anfeu”, sisifer o fram am gar A forty foram) "gd €1 & fon 39 &8 & Saeh [RAfd ik @ve &t

SITQET "

AT, STgi Sifer el el eheram T g, i AfSenat srefiere <. fUdht areq =t ohgl, "gAR —gA-HoiA = HTH h
GHten & € 9 39 v 1R uge € foh 39 ha | STIR O ohlS &1 181 gNTT| SAS<hl <l gTetd 9gd TR § ik a8

had 3ATST & TER g fSiar &1 et a1 sife & 9 & gao afass & ad R A g g 81"

AT = Gl ehl ST feh T e ST TRI § o T 9HT 1Y & | Gferd o geg o 24 guiig ==k AT faehid & & 4
3G SMTGH! T Ugda™ chl [ dgeh TetTs ot | Iqh RIATh Tep ATHeT o e foran T &

Yex A gt o ag Twer gl uTg o it gferg A ki @t areft aeh ARG =1t foman a1, wes afs gfera aifdrert 3
hgl, "gferd sroRreft o f3uA & HTfad Tl IR BTUT AR 6t 8 IR I8 Sie gl IR o= feran saem”

isifer et 12t Y utern # i< ATl ht IFdle ot | Yrax A g, "ag Teh fAereh T Irgdt off ok Hrger &tk #
3T IR Hel 3afery faard) off a2 o ag ST9 Odh foh o1u=t 39 <187 vl a8 g T &l "ag 319+ Ji ot SdTd!
of} foh a8 Tep WR W [SIaY 39h URaR ol 39 fohR1U & gep & 9 381 US| g9R 9t 9us faer g1

Sub questions

Question Number : 53 Question Id : 25498921140 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I8 JHER 16 auifg st & &, |

Options :

1. ¥ St IR H LA g1 Y ot

2. % St Ai&Ish hl Goikl o folq Sreudrer # el ot
3. ¢ S T MM o ARG & R Tief! &t ot

4, % St U ST S A ST @

Question Number : 54 Question Id : 25498921141 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3isifer & fOdT o1 Rked @ Arger 811 &1 Ueh ShRuT fAAfeif@a & 9 e 41 =181 872

Options :

1. ¥ Sl Jid 3iifel T 3eTTol gl e 3B 8|

2. % Sl GG ¢ @ & [oh Ik ST & oy & ATy
3. % gfery srorrelt hl IRTAR =181 e &t 6

4. ¢ qferg sruxreft o U o Guifad W WR 811 AR @l 8

Question Number : 55 Question Id : 25498921142 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
ST iSIfel T TR T8l R T &, Hifh |

Options :

1. ¢ 35 oI ¢ foh IOt ¥ S ehls @I Hag gl (Al



2. % gy 9rgq g i SiSifer 3Mux ST g R S

3. ¥ Tiicft Ieh ATk H il §

4. % el grff arivg & A9 @ S T B

Question Number : 56 Question Id : 25498921143 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
isifer 31U St | SR ehAT dTget off?

Options :

1. % o fAeTeh I 3R Sexe IR U foardy o
2. % TR thth H Y AT 3R TR WA

3. ¥ 3+ yRaR 3R I sy & IR & guA @1

4. ¥ Uap {87 9941 3R URAR & fol Tah R wieAT

Question Number : 57 Question Id : 25498921144 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
TEIiRT & IR fAEfafEa § 9 ol 91 e 9 7181 82

Options :

1. % 1) GARIE oh SR STl Sl Mieft &7 Rt

2. ¢ RAfehcaenl ol @vTaT @ foh Toikl & a1 sisifer <t FeAfd & uR gt dehart 81

3. % 3iSIfer 3ATeT H <SHh U UUTTert UR &

4, % gferg = 3t den fAshia ol IRTAR =181 fohaT & f9a dgen TreTrs ot



QUANTITATIVE APTITUDE

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Display Number Panel :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default?:
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The area of circle is seven times the numerical value of its circumference. What is the

circumference of the circle?

Options :

1. * 616 units
2. % 132 units
3. % 88 units

4. * Cannot be determined
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The sum of two even numbers is 6 more than twice the smaller number. If the difference between

these two numbers is 6, which of the following is definitely the smaller number?

Options :

1. %18

2. %20

3. ¥ Data provided are not adequate to answer the question

4. % 12
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The radivs of a cylinder is 5 m more than its height. If the curved surface area of the cylinder is 792 m?, what is
the volume of the cylinder (in m?)?

Options :
1. % 5712
2. ¥ 5244
3. ¥ 5544

4. % 5306
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Options :

| % 5712

5 % 5244

3. v 5544

4 % 5306
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What is the approximate value of the given expression?

(Note: you are not expected to calculate the exact value)
19.99 x 15.98 + 224.98 + 125.02

Options :

1. % 620

2. # 580

3.4 670

4. % 560
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19.99 x 1598 + 224.98 + 125,02 = 7
Options:

| % 620

, % 580

5 v 670

4 % 560
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If the volume and curved surface area of a cylinder are 616 m® and 352 m?, respectively, what is the total surface
area of the cylinder (in m?)?

Options :
1.9 429
2. % 419

3. % 435



4. % 421

Question Number : 62 Question Id : 25498929085 Question Type : MCQ Option Shuffling : Yes
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Options :

1 v 429
5 % 419
5 % 435

4 % 421
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If a® + tan® 8 = 1. then the value of secf + tan® 8 cosec# is:

Options :

1 % V2 —a?

2. % (2+a%)3
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: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If in the word DISTURBANCE, the first letter is interchanged with the last letter, the second letter is
interchanged with the tenth letter and so on, which letter would come after 'T' in the newly formed

word?

Options :

Question Number : 64 Question Id : 25498912885 Question Type : MCQ Option Shuffling : Yes
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Options :
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:N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Select the option with the quality/description common to the three given words.

Fly, Bee, Ant

Options :

1. * Cockroach
2. #® Spider

3. ® Termite

4, + Insects

Question Number : 65 Question Id : 25498919637 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0
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2. % Apel
3. % &

4. ¥ K
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Select the option in which the words share the same relationship as that shared by the given three

words.

Magazine : Story : Article

Options :

1. % Tea : Milk : Sugar

2. * Television : Newspaper : Entertainment
3. % Bed: Curtain : Pillow

4. % Novel : Drama : Literature

Question Number : 66 Question Id : 25498919645 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Select the option that is related to the third letter-cluster in the same way as the second letter-

cluster is related to the first letter-cluster.

BIGE : JQOM :: RYWU : ?

Options :
1. % AGFD
2. # ZFDB
3. ¥ ZGEC

4. % ZYVX

Question Number : 67 Question Id : 25498919715 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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1. % AGFD
2. = ZFDB
3. ¥ ZGEC

4. % ZYVX

Question Number : 68 Question Id : 25498928166 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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In a certain code language, AT is coded as 20, and BAT is coded as 40. How will CAT be coded in

that language?

Options:
1. % 30
2. % 50
3.4 60

4. % 70

Question Number : 68 Question Id : 25498928166 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : 0 Minimum Instruction Time: 0
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Options :
1. % 30

2. * 50



3. ¥ 60

4. %70
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Select the option in which the words share the same relationship as that shared by the given pair

of words.

Sneer : Contempt
Options :

1. % Grimace : Pain

2. * Snarl : Restlessness
3. ¥ Mourn : Frustration

4. % Joke : Happiness

Question Number : 69 Question Id : 25498928310 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Abid Hussain Committee was related to:

Options :

1. #® export promotion

2.



¥ small and medium industries
3. * agricultural development

4. % energy sector reforms
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Which of the given cells are white blood corpuscles?
1. Eosinophils

2. Lymphocytes

3. Monocytes

4. Neutrophils

Options :
1. % 1and 2

2. % 1,2and 4



3. % 3and 4

4.4 1,2,3and 4
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Options :

1. % 13R2
2. % 1,23R4
3. % 33R4

4.4 1,2,33R4
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Michael Phelps won gold medals in the swimming events at the Beijing Olympics in 2008.

Options :
1. # six
2. ® seven

3. ¥ eight



4. % nine
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Options :
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Read the given assertion and reason and select the most appropriate option with respect to them.

Assertion (A): A straight slope is a type recognised by Walther Penck.

Reason (R): A straight slope develops due to the increasing intensity of erosion.

Options :

1. * Both A and R are true and R is the correct explanation of A

2. ¥ Both A and R are true but R is not the correct explanation of A

3. # Als true but R is false

4. % Ais false but R is true
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Match the Articles of the Constitution in list I with the Fundamental Rights in list II.

List I - Articles of the Constitution of India(List II - Fundamental Rights

A) Article 14 1) Right to equality

B) Article 22 2) Right of a person under detention
C) Article 25 3) Right to freedom of religion

D) Article 32 4) Right to constitutional

Options :



1.% A-1,B-2,C-3,D-4
2. % A-2,B-1,C-3,D-4
3. % A-2,B-1,C-4,D-3

4. % A-1,B-2,C-4,D-3
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4. % A-1,B-2,C-4,D-3
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Read the assertion and reason given here carefully and select the most appropriate option.

Assertion (A): The Darwinian theory of natural selection - sometimes referred to as ‘the survival of

the fittest’ - explains the origin of many species as a normal process of descent from parent forms.

Reason (R): The contemporary distribution pattern of many organisms is often the result of natural

migration or dispersal from original centre(s) of development.

Options :

1. * Both A and R are true and R is the correct explanation of A

2. ¥ Both A and R are true but R is not the correct explanation of A
3. # Aistrue but Ris false

4. % Ais false but R is true
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Summer camps are supervised camps conducted to entertain as well as equip students with
various life skills such as teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development of a child and children have fun

during this process as they get to explore new arenas.
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The nitrogen cycle is the bio and geochemical cycle by which nitrogen is converted into
multiple chemical forms as it circulates among atmosphere terrestrial and marine
ecosystems. The conversion of nitrogen can be carried out through both biological and

physical processes. Important processes in the nitrogen cycle include nitrogen fixation and



ammonification as well as nitrification and denitrification. The majority of atmosphere of
Earth is atmospheric nitrogen making it the largest source of nitrogen. However
atmospheric nitrogen has limited availability for biological use leading to a scarcity of
usable nitrogen in many types of ecosystems. The nitrogen cycle is of particular interest to
ecologists because nitrogen availability can affect the rate of key ecosystem processes
including primary production and decomposition. Human activities such as fossil fuel
combustion or use of artificial nitrogen fertilizers and release of nitrogen in wastewater
have dramatically altered the global nitrogen cycle. Human modification of the global
nitrogen cycle can negatively affect the natural environment systems and also human
health. Organic nitrogen can be present in the form of humus of a living organism or in the
intermediate products of organic matter decomposition. The goal of processes in the
nitrogen cycle is to transform nitrogen from one form to another. Many of these processes
are carried out by microbes either in their effort to harvest energy or to accumulate
nitrogen in a form needed for their growth. The nitrogenous wastes in animal urine are
broken down by nitrifying bacteria in the soil to be used by plants. The conversion of
nitrogen gas into nitrates and nitrites through atmospheric industrial and biological
processes is called nitrogen fixation. Atmospheric nitrogen must be processed or fixed into a
usable form to be taken up by plants. Most of the fixation is done by free living or symbiotic
bacteria known as diazotrophs. These bacteria have the an enzyme that combines gaseous
nitrogen with hydrogen to produce ammonia which is converted by the bacteria into other
organic compounds. Most biological nitrogen fixation occurs by the activity of a complex
enzyme found in a wide variety of bacteria. An example of free living bacteria is
Azotobacter. Symbiotic nitrogen fixing bacteria such as Rhizobium usually live in the root
nodules of legumes. Here they form a mutual relationship with the plant producing
ammonia in exchange for carbohydrates. Because of this relationship legumes will often
increase the nitrogen content of nitrogen poor soils. A few non legumes can also form such
symbioses. Today about thirty percent of the total fixed nitrogen is produced industrially
using the Haber Bosch processes which uses high temperatures and pressures to convert
nitrogen gas and a hydrogen source into ammonia. Plants can absorb nitrate or ammonium
from the soil by their root hairs. If nitrate is absorbed it is first reduced to nitrite ions and
then ammonium ions for incorporation into amino or nucleic acids and chlorophyll. In plants
that have a symbiotic relationship with rhizobia some nitrogen is assimilated in the form of
ammonium ions directly from the nodules. It is known that there is a more complex cycling

of amino acids between Rhizobia bacteria and plants. The plant provides amino acids to the



bacteria due to which ammonia assimilation is not required and the bacteria pass amino

acids back to the plant thus forming an interdependent relationship.
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